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square n = n * n

c B Z2oN-HND2FZFFTE T HsquareE#EZEEZLTLVS.

- B squarel22F&Zz5 R T B RZE R (bind) L7=LY.

-a = 10
- ZHRHAICERHI0ZRET 5.

- square = ...
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map square [1,2,3,4,5] = [1.,4,9,16,25]
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square = \n -> n * n

map (\n -> n *n) [1, 2, 3, 4, 5]
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add X y = x +y

add = \xy ->x +vy

(XY >x+y)23=>(\y >2+y)3=>2+3=5
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add2 (X, y) = X +y
add2 = \(x, y) > x +y

map (\(x, y) -=> x +vy) [(1,11),(2,12),(3,13)]
= [(1+11),(2+12), (3+13)]
= [12,14,16]
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(.) :: (b->c¢c) ->(@->b) ->(a->c0)
MLl F.g
2DDEBEERLTHLWLE##ZES
- (F.9) x =T (g X)
-f.g = \x -=> f (g x)

numberOfLines :: String -> Int
numberOfLines cs = length $ lines cs

numberOfLines :: String -> Int
numberOfLines = length . lines

- (B LDHELY
c($) :: (a->b) ->a->b
- T $ x =7F X
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sortLines :: String -> String
sortLines cs = unlines $ sort $ lines cs

- BB TELE

sortLines = unlines . (sort . lines)
¢ (-) (iEl\Eé

sortLines = unlines . sort . lines

- fth D151

tac :: String -> String
tac cs = unlines $ reverse $ reverse $ reverse $ lines cs

tac = unlines . reverse . reverse . reverse . lines
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addThree 1 J k=1 + jJ + k
addThree 5 = \J k -=>5 + jJ + K

(addThree 5) 6 = \k -> 5 + 6 + k

((addThree 5) 6) 7 =5+ 6 + 7
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map (+ 7) [1,2,3,4,5]
= [8,9,10,11,12]

filter (/= "\r") '"aaa\r\nbbb\r\nccc\r\nddd\r\neee\r\n"
= "‘aaa\nbbb\nccc\nddd\neee\n"
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fgrep.hs

import System.Environment
import Data.List

main = do args <- getArgs
Ccs <- getContents
putStr $ fgrep (head args) cs

fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter match $ lines cs
where
match :: String -> Bool
match line = any prefixp $ tails line

prefixp :-: String -> Bool
prefixp line = pattern " isPrefixOf" line
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fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter match $ lines cs
where
match :: String -> Bool
match line = any prefixp $ tails line

prefixp :: String -> Bool
prefixp line = pattern " isPrefixOf  line

-whereflZfEhHAIL b

fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter (match pattern) $ lines cs

match :: String -> String -> Bool
match pattern line = any (prefixp pattern) $ tails line

prefixp :-: String -> String -> Bool
prefixp pattern line = pattern " isPrefixOf  line
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fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter (match pattern) $ lines cs

¥

fgrep pattern = unlines . filter (match pattern) . lines

prefixp :: String -> String -> Bool
prefixp pattern line = pattern " isPrefixOf  line

a2

prefixp pattern = (pattern " isPrefix0f )

match :: String -> String -> Bool
match pattern line = any (prefixp pattern) $ tails line

a2

any (prefixp pattern) . tails

e 2

any (pattern " isPrefixOf ) . tails

match pattern

match pattern
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fgrep.hs

import System.Environment
import Data.List

main = do args <- getArgs
cs <- getContents
putStr $ fgrep (head args) cs

fgrep :: String -> String -> String
fgrep pattern cs = unlines $ filter match
where
match :: String -> Bool
match line = any prefixp $ tails line

prefixp :: String -> Bool
prefixp line =

pattern "isPrefixOf" line

$ lines cs

fgrep.hs
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import System._Environment
import Data.List

main = do args <- getArgs
cs <- getContents
putStr $ fgrep (head args) cs

fgrep :: String
fgrep pattern =

-> String -> String
unlines .

match :: String
match pattern =

-> String -> Bool
any (pattern "isPrefixOf™) . tails

filter (match pattern) . lines
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match pattern = any (pattern " isPrefixOf ) . tails

¥

match pattern = any (isPrefixOf pattern) . tails

"

match pattern ((any . 1sPrefix0Of) pattern) . tails

¢

match pattern = (. tails) $ (any . i1sPrefixOf) pattern

¢

match = (. tails) . any . isPrefixOf
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fgrep :: String -> String -> String
fgrep pattern cs = unlines $ Tilter (match pattern) $ lines cs

¥

fgrep pattern = unlines . filter (match pattern) . lines

[
[
fgrep2.hs ‘

import System.Environment
import Data.List

main = do args <- getArgs
Ccs <- getContents
putStr $ fgrep (head args) cs

fgrep :: String -> String -> String
fgrep =
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f[]=vV

T (x:xs) = x op T xs

- ZYALDEIRKIVITHY, E53TRWMGHICIE, KEOERIXIEZYDERICH
PTEEEERLGERZopI TEEIT 5.

- BIZIX, SNFETITFESTEEBEMMNA DO TEINTLS.

sum [] =0
sum (X:XS) = X + sum XS

prod [] =1
prod (x:xs) = x * prod xs

- TviEloplZEADHECERRRIGMEMNRIREIZEHMELNZRL.
- Tvi&loplZsI#IMAAADOEBZEAETINIEELL.
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foldr::(a -=> b ->b) ->b ->[a] -> b
foldr T v [] =V
foldr f v (x:xs) = f x (foldr f v xs)

- BFHIAHAEBFoldrZzES L ANMIEATAEHE/RAICE
ESRI CEMNTES.

sum = foldr (+) O
prod = foldr (*) 1

- &b[2, lengthD KSGEAHEFEIFELIRTHIETToldrTRI CEMNTES.

length::[a] -> Int
length [] =0
length (X:xs) = 1 + length xs

a2

length = foldr (\x n -=> 1 + n) O
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append.hs

(++)::[a] -> [a] —> [a]
(++) [1 ys = ys
(++) (X:xs) ys = x : ((++) Xs ys)

append xs ys = foldr ....

- mapBIgEfoldra&{E>TRLAIL.

map2.hs
map::(a -> b) -> [a] -> [b]
map ¥ [1 = []

map f (x:xs) = (F x) : (map F xs)

- YA REEEH BreverseZfoldrZ{E>TRLAGELN.

rev.hs

reverse::[a] -> [a]
reverse [] = [1
reverse (X:Xs) = reverse xs ++ [X]

rev = foldr ....
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foldl::(a -=> b -> a) -> a -> [b] -> a
foldl fv [] =V
foldl T v (x:xs) = foldl (f v xX) xs

- ToldriZEHREDEEFICEAT LD TH-M, RLKICERSIZET
HEHAAHBEHfoldltLH 5.

- BRLGEMNSEZETTT HAHEN-o TS,
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sum = foldl (+) O
prod = foldl (*) 1

- (T, reverselZDDNWTHERDEIIZEZDEMTES.

reverse::[a] -> [a]
reverse Xs = reverse2 [] xs

reverse2::[a] -> [a] -> [a]
reverse2 ys [] = ys
reverse2 ys (xX:xs) = reverse2 (X:ys) Xs

reverse = foldl (\xs x -> x:xs) []
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b2d.hs

import System.Environment

main = do args <- getArgs
print $ b2d $ head args

bit::Char -> Int
bit "0- 0]
bit "1° 1

b2d::String -> Int
b2d = ...

% ./b2d 1010

10

% ./b2d 11111100010
2018

%
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sort2.hs

import System.Environment

main = do args <- getArgs
print $ mysort $ map read args

mysort :: [Int] -> [Int]
mysort [] [1
mysort (X:Xxs) myinsert x (mysort Xxs)

myinsert :: Int -> [Int] -> [Int]
myinsert x [] [x]
myinsert x (y:ys) iIT x >y then y:(nyinsert x ys) else x:y:ys

« FIFYARRENESWVEIZHE VD EZSTOTSLTTH, mysort &
myinsert #HIRTUHLTEEL, EHFAABEHEFE-TES
ELGS0.

% ghc sort2.hs

% ./sort2 5 3 7 2
[2,3,5,7]
%
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